QCH7| TOEFL Reading M E (XTI 14 7|F)

H0|X| ik ol e T8 WE

22 p. | X2 3R chef One reason Sparta developed | One reason Sparta developed

016 such militaristic society such a militaristic society

22 p. | X2 On the other hand, the | On the other hand, the

017 Athenians focused their | Athenians focused their
education to produce thinkers. | education on producing

thinkers.

22 p. | N2 _1HR chet The Industrial Revolution was a | The Industrial Revolution was a

020 turning point in history that | turning point in history that
marked  the transition of | marked the transition from
manual labor to mechanical | manual labor to mechanical
production. production.

22 p. | N2 _1HHR] chef Although  newborns initiate | Although  newborns initiate

038 their lives without the ability of | their lives without the ability to
communicate, communicate,

22 p. | 01 X2 Because conditioning occurs | Because conditioning occurs

116 when an organism learns that | when an organism learns that a
certain behavior certain behavior

22 p. | 04 X2 Another map, by an | Another map, by an

117 unidentified Babylonian dates | unidentified Babylonian, dates
back to 2,500 BCE back to 2,500 BCE

22 p. | 07" X2 that can be used to account for | that can be used to account for

119 any moving objects from | any moving object from
automobiles automobiles

22 p. | N2 _1HR] chef he sent to Russia and then he was sent to Russia and then

126

22 p. | N2 2R chet the cells in the body requires | the cells in the body require

132 energy energy

22 p. | 2 X2 The mountains are known for | The mountains are known for

142 its rich ecology their rich ecology

22 p. | N2 2R chet This enabled the development | This enabled the development

158 of the mathematical, or linear | of the mathematical, or linear,
perspective, perspective,

22 p. | X2 4EHW e The full-scale figure, was the | The full-scale figure was the

159 first  unsupported  standing | first  unsupported standing
work work

22 p | X2 18R G2t Termites have a relatively | Termites have a relatively




182

primitive physiology in that
they have soft bodies and
undergo incomplete

metamorphosis, however, they
have developed an elaborate

caste system.

primitive physiology in that
they have soft bodies and
undergo incomplete

metamorphosis. However, they
have developed an elaborate

caste system.

20 A2 3HF cHek and the pine forest and the | and the pine forest and the

184 reindeer that occupied the area | reindeer that occupied the area
was obliterated without a trace. | were obliterated without a

trace.

=3 leH X|& From its initial cultivation in the | From their initial cultivation in

205 17t century, its fruits the 17t century, their fruits

=22 49 X| &2 During the Reconstruction Era | During the Reconstruction Era

227 after the civil war, the newly | after the American Civil War,
emancipated black populations | the newly emancipated black
throughout the South were | populations throughout the
penniless and had as limited | South were penniless and had
set of skills with which they | a limited set of skills with which
could make a living. they could make a living.

=23 X2 22w ctef Vitamin A, for example, helps | Vitamin A, for example, helps

240 prevent wrinkles, and act as | prevent wrinkles, and acts as
powerful antioxidants powerful antioxidants

22 X2 12Hm cHet they are not classified electric | they are not classified as

254 fish electric fish

=22 X2 3EHm CHet 5 distinct types of leukocytes | 5 distinct types of leukocytes

268 exist, and can be distinguished | exist, and can be distinguished
by its physical appearance and | by their physical appearances
its functions. and their functions.

=22 08 ZAXN_F MEH | F gods had tangible forms F. gods had abstract forms

294 x|

=20 X2 28w cief Researchers believe that a | Researchers believe that a

298 combination of genetic and | combination of genetic and
environmental factors triggers | environmental factors triggers
the immune system to function | the beta cells to function
abnormally. abnormally.
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